Coupe du monde

enregistrement Match
chaine equipel, equipeZ;
entier butsl, buts2;

finenregistrement

fonction avec retour entier nbButsMarques(Match[] t, chaine eq)

entier i, buts;
debut
buts <- 0;
pour (i allant de 0 & t.longueur-1 pas de 1) faire
si (t[i].equipel = eq) alors
buts <- buts + t[i].butsi;
finsi
si (t[i].equipe2 = eq) alors
buts <- buts + t[i].buts2;
finsi
finpour
retourne buts;
fin

fonction avec retour Match[] matchsNuls(Match[] t)
entier 1i,j;
Match[] resultat;
debut
J <103
pour (i allant de O & t.longueur-1 pas de 1) faire
si (t[i].butsl = t[i].buts2) alors

J <= 3dds
finsi
finpour
redim resultat[j];
j <= 105

pour (i allant de O & t.longueur-1 pas de 1) faire
si (t[i].butsl = t[i].buts2) alors
resultat[j] <- t[i];
j <= JFl;
finsi
finpour
retourne resultat;
fin



